Resolution #:

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
William E Lloyd	HAZEL VIEW SUBJ TO ST LOTS 14	Mill and Overlay - Commer	cia 25.10	80.00	\$2,008.00	35-29-22-13-0168
2024 3rd St E	AND LOT 15 BLK 4			_	\$2,008.00	
St Paul MN 55119-4025		*** Owner and Taxpayer **	*			
*2024 3RD ST E						
*Ward: 7			Assessment:		\$2,008.00	
*Pending as of: 12/31/2018			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		rayo	ff Amount:		\$2,008.00	
Jeffrey C Wiberg	HAZEL VIEW EX S 10 FT FOR ST THE	Mill and Overlay - Commer	cia 25.10	60.00	\$1,506.00	35-29-22-13-0149
Farrah J Wiberg	FOL E 1/2 OF LOT 17 AND ALL OF LOT 18 BLK 3			=	\$1,506.00	
2025 3rd St E St Paul MN 55119-4022	LOT 18 BLK 5	*** Owner and Taxpayer **	*	4 - ,		
*2025 3RD ST E		Total	Assessment:		\$1,506.00	
*Ward: 7		This	Payment:		\$0.00	
*Pending as of: 12/31/2018		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payo	ff Amount:		\$1,506.00	
Matthew Vanda	HAZEL VIEW EX S 10 FT FOR ST THE	Mill and Overlay - Commer	cia 25.10	60.00	\$1,506.00	35-29-22-13-0150
2031 3rd St E	FOL W 1/2 OF LOT 2O AND ALL OF			=	\$1,506.00	33-27-22-13-0130
St Paul MN 55119-4022	LOT 19 BLK 3	*** Owner and Taxpayer **	*** Owner and Taxpayer ***			
*2031 3RD ST E *Ward: 7		Total	Assessment:		\$1,506.00	
*Pending as of: 12/31/2018			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
			ff Amount:		\$1,506.00	

**Ratification Date:** 

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>I</u>	Jnit Rate	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Tou Hmong Yang	HAZEL VIEW EX N 10 FT LOT 12 BLK	Mill and Overlay - Con	nmercia	25.10	40.00	\$1,004.00	35-29-22-13-0166
Vue Xiong	4				<del>-</del>	\$1,004.00	
2032 3rd St E St Paul MN 55119-4025		*** Owner and Taxpay	ver ***				
*2032 3RD ST E		- T	Fotal Assessi	ment:		\$1,004.00	
*Ward: 7		Т	This Paymen	t:		\$0.00	
*Pending as of: 12/31/2018		(	Current Year	Principal:		\$0.00	
		(	Current Year	Interest:		\$0.00	
		I	Payoff Amou	unt:		\$1,004.00	
Ih2 Property Illinois Lp	HAZEL VIEW EX S 10 FT FOR ST THE	Mill and Overlay - Con	nmercia	25.10	60.00	\$1,506.00	35-29-22-13-0151
C/O Invitation Homes Tax Dept	FOL E 1/2 OF LOT 2O AND ALL OF				=	\$1,506.00	33-27-22-13-0131
1717 Main St Ste 2000	LOT 21 BLK 3	*** Owner and Taxpay	ver ***	\$1,500.00			
Dallas TX 75201-4657 *2035 3RD ST E		- T	Total Assessi	ment:		\$1,506.00	
*Ward: 7			This Paymen			\$0.00	
*Pending as of: 12/31/2018			Current Year			\$0.00	
		(	Current Year	Interest:		\$0.00	
		F	Payoff Amou	unt:		\$1,506.00	
Sisanekoun Vang	HAZEL VIEW EX N 10 FT LOT 11 BLK	Mill and Overlay - Con	nmercia	25.10	39.00	\$978.90	35-29-22-13-0165
2036 3rd St E	4	will and overlay con	minoreia	23.10	=	\$978.90	35-29-22-13-0105
St Paul MN 55119-4025		*** Owner and Taxpay	er ***			\$9/8.90	
*2036 3RD ST E		owner and ranpay					
*Ward: 7		- T	Total Assessi	ment:		\$978.90	
*Pending as of: 12/31/2018			This Paymen			\$0.00	
J			Current Year			\$0.00	
			Current Year	•		\$0.00	
		F	Payoff Amou	unt:		\$978.90	

Ratification	Date:	Resolution

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Ra</u>	te Quantity	<b>Charge Amts</b>	<b>Property ID</b>
Susan M Grzeskowiak Trustee	HAZEL VIEW EX N 10 FT LOTS 8 AND	Mill and Overlay - Co	mmercia 25.1	80.00	\$2,008.00	35-29-22-13-0163
2048 3rd St E	LOT 9 BLK 4			_	\$2,008.00	
St Paul MN 55119-4025		*** Owner and Taxpa	yer ***			
*2048 3RD ST E *Ward: 7			Total Assessment:		\$2,008.00	
*Pending as of: 12/31/2018			This Payment:		\$2,008.00	
1 chung as 01. 12/31/2016			Current Year Princip	aal:	\$0.00	
			Current Year Interes		\$0.00	
			Payoff Amount:		\$2,008.00	
Lavalle Hanson 2051 3rd St E	HAZEL VIEW EX S 10 FT FOR ST THE FOL E 1/2 OF LOT 23 AND ALL OF	Mill and Overlay - Co	mmercia 25.1	58.00	\$1,455.80 \$1,455.80	35-29-22-13-0153
2031 3td St E St Paul MN 55119-4022 *2051 3RD ST E	LOT 24 BLK 3	*** Owner and Taxpa	yer ***	\$1,433.80		
*Ward: 7			Total Assessment:		\$1,455.80	
Pending as of: 12/31/2018			This Payment:		\$0.00	
			Current Year Princip		\$0.00	
			Current Year Interes	t:	\$0.00	
			Payoff Amount:		\$1,455.80	
Joyce M Hegge	HAZEL VIEW EX N 10 FT W 1/2 OF	Mill and Overlay - Co	ommercia 25.1	10 60.00	\$1,506.00	35-29-22-13-0161
2060 3rd St E	LOT 5 AND EX N 10 FT LOT 6 BLK 4	•		=	\$1,506.00	55 27 22 15 0101
St Paul MN 55119-4025 * <b>2060 3RD ST E</b>		*** Owner and Taxpa	yer ***		Ψ1,200.00	
*Ward: 7			Total Assessment:		\$1,506.00	
*Pending as of: 12/31/2018			This Payment:		\$0.00	
			Current Year Princip	oal:	\$0.00	
			Current Year Interes	t:	\$0.00	
			Payoff Amount:		\$1,506.00	

**Ratification Date:** Resolution #:

			solution #:			
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Kristeen L Jacks	HAZEL VIEW EX S 10 FT FOR ST THE FOL E 1/2 OF LOT 26 AND ALL OF	Mill and Overlay - Comm	nercia 25.10	60.00	\$1,506.00	35-29-22-13-0155
2065 3rd St E	LOT 27 BLK 3			_	\$1,506.00	
St Paul MN 55119-4022		*** Owner and Taxpayer	***			
*2065 3RD ST E		_			4	
*Ward: 7			al Assessment:		\$1,506.00	
*Pending as of: 12/31/2018			s Payment:		\$0.00	
			rrent Year Principal:		\$0.00	
			rrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$1,506.00	
Jessi See Lor	HAZEL VIEW EX S 10 FT FOR ST THE FOL W 1/2 OF LOT 29 AND ALL OF	Mill and Overlay - Comm	nercia 25.10	61.00	\$1,531.10	35-29-22-13-0156
Meng Yang	LOT 28 BLK 3			_	\$1,531.10	
2071 3rd St E		*** Owner and Taxpayer	***			
St Paul MN 55119-4022						
*2071 3RD ST E		То	tal Assessment:		\$1,531.10	
*Ward: 7		Th	is Payment:		\$0.00	
*Pending as of: 12/31/2018		Cu	rrent Year Principal:		\$0.00	
		Cu	rrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$1,531.10	
Gloria Medina De Cervantes	HAZEL VIEW EX N 10 FT W 1/2 OF LOT 2 AND EX N 10 FT LOT 3 BLK 4	Mill and Overlay - Comm	nercia 25.10	63.00	\$1,581.30	35-29-22-13-0159
2072 3rd St E	LOT 2 AND EA N TO FT LOT 3 BLK 4				\$1,581.30	
St Paul MN 55119-4025		*** Owner and Taxpayer	***			
*2072 3RD ST E						
*Ward: 7			tal Assessment:		\$1,581.30	
*Pending as of: 12/31/2018			is Payment:		\$0.00	
			rrent Year Principal:		\$0.00	
		Cu	rrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$1,581.30	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO1811 Assmt: 185507 Manager: LM **Resolution #:** 

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Mark R Meader Trustee	HAZEL VIEW EX S 10 FT FOR ST THE	Mill and Overlay - Commercia	25.10	54.00	\$1,355.40	35-29-22-13-0157
749 Fox Rd	FOL E 1/2 OF LOT 29 AND ALL OF LOT 30 BLK 3	Mill and Overlay - Residential	25.10	0.00	\$0.00	
Lino Lakes MN 55014-5469	EOT SUBLIC S			_	\$1,355.40	
*2077 3RD ST E		*** Owner and Taxpayer ***				
*Ward: 7		T. (-1 A			¢1 255 40	
*Pending as of: 12/31/2018		Total Ass			\$1,355.40 \$0.00	
		This Payr	ear Principal:		\$0.00 \$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$1,355.40	
		1 ayon A	mount.		ψ1,033.40	
Bruce A Wislofsky	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Commercia	25.10	55.00	\$1,380.50	35-29-22-13-0080
Kelly M Lopez Gil	NO. 2 LOT 22 BLK 5	Mill and Overlay - Residential	25.10	0.00	\$0.00	CC 27 22 10 0000
2082 3rd St E				=	\$1,380.50	
St Paul MN 55119-6421 * <b>2082 3RD ST E</b>		*** Owner and Taxpayer ***			. ,	
*Ward: 7		Total Ass	essment:		\$1,380.50	
*Pending as of: 12/31/2018		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$1,380.50	
Nancy J Boatman	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Commercia	25.10	55.00	\$1,380.50	35-29-22-13-0059
2083 3rd St E	LOT 23 BLK 4	Mill and Overlay - Residential	25.10	0.00	\$0.00	35-29-22-13-0059
St Paul MN 55119-4024				=	\$1,380.50	
*2083 3RD ST E *Ward: 7		*** Owner and Taxpayer ***			\$1,300.30	
*Pending as of: 12/31/2018		Total Ass	essment:		\$1,380.50	
<b>3</b>		This Payr			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$1,380.50	

7.11.01 M(M201)	Tubiic Improvement Assessment Roi	• • • • • • • • • • • • • • • • • • • •	lution #:	Assiit. 105507	Manager. Livi	1 age
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Dorothy M Kuczaboski	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Commer	cia 25.10	50.00	\$1,255.00	35-29-22-13-0079
2088 3rd St E	NO. 2 LOT 21 BLK 5			_	\$1,255.00	
St Paul MN 55119-6421		*** Owner and Taxpayer **	**			
*2088 3RD ST E *Ward: 7		Total	Assessment:		\$1,255.00	
*Pending as of: 12/31/2018			Payment:		\$0.00	
C			ent Year Principal:		\$0.00	
		Curre	ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$1,255.00	
Kermit L Adams	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Commer	rcia 25.10	50.00	\$1,255.00	35-29-22-13-0060
Mara J Adams	LOT 24 BLK 4			_	\$1,255.00	00 27 22 10 0000
4643 Stoddart Lane Vadnais Heights MN 55127-2332		*** Owner and Taxpayer **	**		4-,	
*2089 3RD ST E		Total	Assessment:		\$1,255.00	
*Ward: 7		This	Payment:		\$0.00	
*Pending as of: 12/31/2018			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$1,255.00	
Arthur P Flores	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Commer	rcia 25.10	50.00	\$1,255.00	35-29-22-13-0078
Vicki L Kline Flores	NO. 2 LOT 20 BLK 5	•		=	\$1,255.00	00 2) 22 10 00/0
2094 3rd St E St Paul MN 55119-6421		*** Owner and Taxpayer **	**		\$1, <b>2</b> 00.00	
*2094 3RD ST E		Total	Assessment:		\$1,015.00	
*Ward: 7			Payment:		\$0.00	
*Pending as of: 12/31/2018		Curre	ent Year Principal:		\$0.00	

Current Year Interest:

**Payoff Amount:** 

\*\*\*ESCROW\*\*\*

Page 6

\$0.00

\$1,015.00

Ratification 1	Date:	Resolution #:
tutilitution .	Dute.	itesolution ".

<u>Owner or Taxpayer</u>	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Kelly Westlund	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Commer	cia 25.10	50.00	\$1,255.00	35-29-22-13-0062
2101 3rd St E	LOT 26 BLK 4				\$1,255.00	
St Paul MN 55119-4024		*** Owner and Taxpayer **	*			
*2101 3RD ST E		T 1	•		#1 255 OO	
*Ward: 7			Assessment:		\$1,255.00	
*Pending as of: 12/31/2018			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		rayo	ff Amount:		\$1,255.00	
Steffen O Loken	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Commer	cia 25.10	50.00	\$1,255.00	35-29-22-13-0076
Betty Loken	NO. 2 LOT 18 BLK 5			=	\$1,255.00	
2106 3rd St E		*** Owner and Taxpayer **	*		Ψ1,200.00	
St Paul MN 55119-4027						
*2106 3RD ST E		Total	Assessment:		\$1,255.00	
*Ward: 7		This	Payment:		\$0.00	
*Pending as of: 12/31/2018		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payo	ff Amount:		\$1,255.00	
Lynda L Sypniewski	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Commer	cia 25.10	50.00	\$1,255.00	35-29-22-13-0075
2112 3rd St E	NO. 2 LOT 17 BLK 5	with the eventy commen	23.10	=		33-29-22-13-00/3
St Paul MN 55119-4027		*** Owner and Taxpayer **	*		\$1,255.00	
*2112 3RD ST E		Owner and Taxpayer				
*Ward: 7		Total	Assessment:		\$1,255.00	
*Pending as of: 12/31/2018			Payment:		\$0.00	
1 0			ent Year Principal:		\$0.00	
					Ψ0.00	
			ent Year Interest:		\$0.00	

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Tina Marie Sjoblom Lassahn	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Co	ommercia 25.10	50.00	\$1,255.00	35-29-22-13-0074
1741 Ross St	NO. 2 LOT 16 BLK 5			_	\$1,255.00	
St Paul MN 55106-4236		*** Owner and Taxpa	yer ***			
*2118 3RD ST E *Ward: 7			Total Assessment:		\$1,255.00	
*Pending as of: 12/31/2018			This Payment:		\$0.00	
1 chang as 01. 12/31/2010			Current Year Principal:		\$0.00	
			Current Year Interest:		\$0.00	
			Payoff Amount:		\$1,255.00	
Blia Xiong	FOOSHE'S EAST HOME ADDITION E	Mill and Overlay - Co	ommercia 25.10	74.00	\$1,857.40	35-29-22-13-0179
Xue Lor	1/2 OF LOT 29 AND ALL OF LOT 30 BLK 4			=	\$1,857.40	
2121 3rd St E	BER 1	*** Owner and Taxpa	yer ***			
St Paul MN 55119-4024 * <b>2121 3RD ST E</b>			T 1 A		Φ1 057 40	
*Ward: 7			Total Assessment: This Payment:		\$1,857.40 \$0.00	
*Pending as of: 12/31/2018			Current Year Principal:		\$0.00	
1 chang as 01. 12/31/2016			Current Year Interest:		\$0.00	
			Payoff Amount:		\$1,857.40	
			- <i>m</i> ,		+=,	
Elizabeth Glasco	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Co	ommercia 25.10	50.00	\$1,255.00	35-29-22-13-0073
2122 3rd St E	NO. 2 LOT 15 BLK 5			_	\$1,255.00	
St Paul MN 55119-4027		*** Owner and Taxpa	yer ***			
*2122 3RD ST E			T 1 A		Φ1 <b>255</b> 00	
*Ward: 7			Total Assessment:		\$1,255.00	
*Pending as of: 12/31/2018			This Payment: Current Year Principal:		\$0.00 \$0.00	
			Current Year Interest:		\$0.00 \$0.00	
			Payoff Amount:		\$1,255.00	
			i ayun Amuunt.		\$1,433.00	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO1811 Assmt: 185507 Manager: LM Page 9 **Ratification Date: Resolution #:** Owner or Taxpayer **Property Description Item Description Unit Rate Quantity Charge Amts Property ID** FOOSHE'S EAST HOME ADDITION Mill and Overlay - Commercia 25.10 50.00 \$1,255.00 David H Mueller 35-29-22-13-0065 LOT 31 BLK 4 Barbara Mueller \$1,255.00 2127 3rd St E \*\*\* Owner and Taxpaver \*\*\* St Paul MN 55119-4024 \*2127 3RD ST E Total Assessment: \$1,255.00 \*Ward: 7 This Payment: \$0.00 \*Pending as of: 12/31/2018 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$1,255.00 Mill and Overlay - Commercia 25.10 50.00 \$1,255.00 Keith B Beynon FOOSHE'S EAST HOME ADDITION 35-29-22-13-0072 NO. 2 LOT 14 BLK 5 Diana L Beynon \$1,255.00 2128 3rd St E \*\*\* Owner and Taxpayer \*\*\* St Paul MN 55119-4027 \*2128 3RD ST E Total Assessment: \$1,255.00 \*Ward: 7 This Payment: \$0.00 \*Pending as of: 12/31/2018 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$1,255.00 Mill and Overlay - Commercia 25.10 50.00 Ellien M Paquin \$1,255.00 FOOSHE'S EAST HOME ADDITION 35-29-22-13-0071 NO. 2 LOT 13 BLK 5 2005 Buffalo Run Rd \$1,255.00 Buffalo MN 55313-5048 \*\*\* Owner and Taxpaver \*\*\* \*2132 3RD ST E \*Ward: 7 Total Assessment: \$1,255.00 \*Pending as of: 12/31/2018 This Payment: \$0.00

Current Year Principal:

Current Year Interest:

**Pavoff Amount:** 

\$0.00

\$0.00

\$1,255.00

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>		<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Palani D Palapala	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Co	ommercia	25.10	50.00	\$1,255.00	35-29-22-13-0066
Rebecca L Palapala	LOT 32 BLK 4				_	\$1,255.00	
133 3rd St E		*** Owner and Taxpa	ayer ***				
St Paul MN 55119-4024							
<sup>2</sup> 2133 3RD ST E			Total Asse			\$1,255.00	
Ward: 7			This Paym			\$0.00	
Pending as of: 12/31/2018				ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$1,255.00	
T A J-	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Co	ommercia	25.10	55.00	\$1,380.50	25 20 22 12 00/0
Гracy Arends Matthew Arends	VAC WALKWAY ACCRUING AS IN T.		Ollillercia	23.10	33.00		35-29-22-13-0068
2141 3rd St E	DOC.612903 & LOT 34 BLK 4	*** Owner and Taxpa	***			\$1,380.50	
St Paul MN 55119-4024		Owner and Taxpa	ayer ****				
<sup>2</sup> 2141 3RD ST E			Total Asse	ecmant.		\$1,380.50	
Ward: 7			This Paym			\$0.00	
Pending as of: 12/31/2018			-	ear Principal:		\$0.00	
1 chang as of: 12/3 // 2010				ear Interest:		\$0.00	
			Payoff An			\$1,380.50	
			•				
Steven L Lambert	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Co	ommercia	25.10	50.00	\$1,255.00	35-29-22-13-0181
2142 3rd St E	NO. 2 LOT 11 BLK 5				=	\$1,255.00	
t Paul MN 55119-4027		*** Owner and Taxpa	ayer ***			-	
2142 3RD ST E							
Ward: 7			Total Asse	essment:		\$1,255.00	
Pending as of: 12/31/2018			This Paym	ent:		\$0.00	
				ear Principal:		\$0.00	
			Current Y	ear Interest:		\$0.00	
			Payoff An	nount:		\$1,255.00	

## Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO1811 Assmt: 185507 Manager: LM **Ratification Date:** Resolution #:

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Jerry Xiong	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Comme	ercia 25.10	50.00	\$1,255.00	35-29-22-14-0166
2152 3rd St E	NO. 2 LOT 9 BLK 5			_	\$1,255.00	
St Paul MN 55119-4027		*** Owner and Taxpayer *	**			
*2152 3RD ST E						
*Ward: 7			l Assessment:		\$1,255.00	
*Pending as of: 12/31/2018			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Pay	off Amount:		\$1,255.00	
Brian J Gove	FOOSHE'S EAST HOME ADDITION E	Mill and Overlay - Comme	ercia 25.10	60.00	\$1,506.00	35-29-22-14-0151
2155 3rd St E	1/2 OF LOT 36 AND EX E 15 FT LOT 37	Williand Overlay - Commit	25.10	=		35-29-22-14-0151
St Paul MN 55119-4024	BLK 4	*** Owner and Taxpayer *	:**		\$1,506.00	
*2155 3RD ST E		Owner and Taxpayer				
*Ward: 7		Tota	l Assessment:		\$1,506.00	
*Pending as of: 12/31/2018		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Pay	off Amount:		\$1,506.00	
Ngoc Minh Ly Tran	FOOSHE'S EAST HOME ADDITION EX	Mill and Overlay - Comme	ercia 25.10	60.00	\$1,506.00	35-29-22-14-0153
2169 3rd St E	W 10 FT LOT 39 AND EX E 30 FT LOT	Williand Overlay - Collinic	25.10	=		35-29-22-14-0153
St Paul MN 55119-4024	40 BLK 4	*** O 1 T *	• • • •		\$1,506.00	
*2169 3RD ST E		*** Owner and Taxpayer *				
*Ward: 7		Tota	l Assessment:		\$1,506.00	
*Pending as of: 12/31/2018			Payment:		\$0.00	
<del>-</del>			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Pay				

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Rate</u>	<b>Quantity</b>	<b>Charge Amts</b>	Property ID
Saul R Sanchez Henriquez	FOOSHE'S EAST HOME ADDITION E	Mill and Overlay - Com	mercia 25.10	62.00	\$1,556.20	35-29-22-14-0154
America Roxana Jimenez	3O FT OF LOT 4O AND W 3O FT OF LOT 41 BLK 4			=	\$1,556.20	
2171 3rd St E		*** Owner and Taxpaye	er ***			
St Paul MN 55119-4024 *2171 3RD ST E		 T	otal Assessment:		\$1,556.20	
*Ward: 7		_	his Payment:		\$1,336.20	
*Pending as of: 12/31/2018			furrent Year Principal:		\$0.00	
1 chang as 01. 12/3 // 2010			Surrent Year Interest:		\$0.00	
			ayoff Amount:		\$1,556.20	
Susan Miggler	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Com	mercia 25.10	50.00	\$1,255.00	35-29-22-14-0163
2172 3rd St E	NO. 2 LOT 6 BLK 5			_	\$1,255.00	
St Paul MN 55119-4027		*** Owner and Taxpaye	er ***			
*2172 3RD ST E		=				
*Ward: 7			otal Assessment:		\$1,255.00	
*Pending as of: 12/31/2018			his Payment:		\$0.00	
			urrent Year Principal:		\$0.00	
			urrent Year Interest:		\$0.00	
		P	ayoff Amount:		\$1,255.00	
	FOORWEIG FACT HOME APPRIENT W	Miller 10 and a Com-	25.10	56.00	¢1.405.60	
George B Sigstad	FOOSHE'S EAST HOME ADDITION W 37 FT OF LOT 42 AND EX W 30 FT LOT	Mill and Overlay - Com	mercia 25.10	56.00	\$1,405.60	35-29-22-14-0155
Lisa M Sigstad	41 BLK 4				\$1,405.60	
2181 3rd St E St Paul MN 55119-4024		*** Owner and Taxpaye	er ***			
*2181 3RD ST E		$\overline{T}$	otal Assessment:		\$1,405.60	
*Ward: 7		Т	his Payment:		\$0.00	
*Pending as of: 12/31/2018			urrent Year Principal:		\$0.00	
			urrent Year Interest:		\$0.00	
		P	ayoff Amount:		\$1,405.60	

 pro , cine.	11 1 100 000 111	 ~ 5 1 - 44		(	••	
		Ratific	ation	Date		

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Un</u>	it Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Scott Schultz	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Co	ommercia	25.10	50.00	\$1,255.00	35-29-22-14-0161
Ericka Schultz	NO. 2 LOT 4 BLK 5				_	\$1,255.00	
2184 3rd St E St Paul MN 55119-4027		*** Owner and Taxpa	yer ***				
*2184 3RD ST E			Total Assessme	ent:		\$1,255.00	
*Ward: 7			This Payment:	JIIt.		\$0.00	
*Pending as of: 12/31/2018			Current Year P	rincipal:		\$0.00	
			Current Year In	_		\$0.00	
			Payoff Amoun	ıt:		\$1,255.00	
Brian J Ludwig	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Co	mmercia	25.10	49.00	\$1,229.90	25 20 22 14 01(0
2188 E 3rd St	NO. 2 LOT 3 BLK 5	will and Overlay - Co	линстста	23.10	= 7.00		35-29-22-14-0160
St Paul MN 55119-4027		*** Owner and Taxpa	ver ***			\$1,229.90	
*2188 3RD ST E		o will all a range.	., 01				
*Ward: 7			Total Assessme	ent:		\$1,229.90	
*Pending as of: 12/31/2018			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year II			\$0.00	
			Payoff Amoun	ıt:		\$1,229.90	
Sandra M Emms Trustee	FOOSHE'S EAST HOME ADDITION W	Mill and Overlay - Co	ommercia	25.10	53.00	\$1,330.30	35-29-22-14-0156
2191 E 3rd St	44 FT OF LOT 43 AND EX W 37 FT LOT	•			=	\$1,330.30	00 27 22 11 0100
St Paul MN 55119-4024 *2191 3RD ST E	42 BLK 4	*** Owner and Taxpa	yer ***			ψ1,500.50	
*Ward: 7			Total Assessme	ent:		\$1,330.30	
*Pending as of: 12/31/2018			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$1,330.30	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO1811 Assmt: 185507 Manager: LM **Ratification Date:** Resolution #:

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Un</u>	nit Rate	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Guillaume T Moua	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Com	nmercia	25.10	50.00	\$1,255.00	35-29-22-14-0159
2194 3rd St E	NO. 2 LOT 2 BLK 5				_	\$1,255.00	
St Paul MN 55119-4207		*** Owner and Taxpayo	er ***				
*2194 3RD ST E *Ward: 7		 T	Total Assessm	omt:		\$1,100.00	
*Pending as of: 12/31/2018			This Payment:			\$1,100.00	
1 chang as 01. 12/31/2016			Current Year F			\$0.00	
			Current Year I	•		\$0.00	
			Payoff Amour			\$1,100.00	
Bethlehem Y Tegegne	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Com	nmercia	25.10	50.00	\$1,255.00	35-29-22-14-0082
2206 3rd St E	NO. 3 LOT 14 BLK 6	Mill and Overlay - Resi	idential	25.10	0.00	\$0.00	
St Paul MN 55119-4028					_	\$1,255.00	
*2206 3RD ST E		*** Owner and Taxpaye	er ***				
*Ward: 7		_					
*Pending as of: 12/31/2018			Total Assessm			\$1,255.00	
			This Payment:			\$0.00	
			Current Year F	-		\$0.00	
			Current Year I			\$0.00	
		P	Payoff Amour	nt:		\$1,255.00	
Joseph Sorlien	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Com	mercia	25.10	50.00	\$1,255.00	35-29-22-14-0080
2214 3rd St E	NO. 3 LOT 12 BLK 6				=	\$1,255.00	33-27-22-14-0000
t Paul MN 55119-4028		*** Owner and Taxpaye	er ***			φ1,233.00	
2214 3RD ST E		- · · · · · · · · · · · · · · · · · · ·					
Ward: 7		T	Total Assessm	ent:		\$1,255.00	
Pending as of: 12/31/2018		Т	This Payment:			\$0.00	
			Current Year P			\$0.00	
		C	Current Year I	nterest:		\$0.00	
		P	Payoff Amour	nt:		\$1,255.00	

	- up. 0 , 0	Ratification Date: Res	olution #:	110011111 10000	,ger v 25/12	- "gv -
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Yeng K Yang	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Comm	ercia 25.10	50.00	\$1,255.00	35-29-22-14-0078
2222 3rd St E	NO. 3 LOT 10 BLK 6			_	\$1,255.00	
St Paul MN 55119-4028		*** Owner and Taxpayer	***			
*2222 3RD ST E						
*Ward: 7			al Assessment:		\$1,255.00	
*Pending as of: 12/31/2018			s Payment:		\$0.00	
			rent Year Principal:		\$0.00	
			rent Year Interest:		\$0.00	
		Pay	off Amount:		\$1,255.00	
Mary T Monson	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Comm	ercia 25.10	50.00	\$1,255.00	35-29-22-14-0077
2226 3rd St E	NO. 3 LOT 9 BLK 6	•		=	\$1,255.00	33 27 22 14 0077
St Paul MN 55119-4028		*** Owner and Taxpayer	***		\$1,233.00	
*2226 3RD ST E						
*Ward: 7		Tota	al Assessment:		\$1,255.00	
*Pending as of: 12/31/2018		Thi	Payment:		\$0.00	
		Cur	rent Year Principal:		\$0.00	
		Cur	rent Year Interest:		\$0.00	
		Pay	off Amount:		\$1,255.00	
George A Bell	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Comm	ercia 25.10	50.00	\$1,255.00	25 20 22 14 0071
Terri S Bell	NO. 4 LOT 13 BLK 7	Williand Overlay - Collini	25.10	50.00		35-29-22-14-0061
2229 3rd St E		*** Owner and Taxpayer	k *k *k		\$1,255.00	
St Paul MN 55119-4026		Owner and Taxpayer				
*2229 3RD ST E		Tot	al Assessment:		\$1,255.00	
*Ward: 7			s Payment:		\$0.00	
*Pending as of: 12/31/2018			rent Year Principal:		\$0.00	
1 0.1			rent Year Interest:		\$0.00	
			off Amount:		\$1,255.00	
		ray	on Amount.		\$1,433.00	

**Ratification Date:** 

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Tou Yang	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Comn	nercia 25.10	50.00	\$1,255.00	35-29-22-14-0062
Kg Yang	NO. 4 LOT 14 BLK 7				\$1,255.00	
2233 3rd St E		*** Owner and Taxpayer	***			
St Paul MN 55119-4026 *2233 3RD ST E		To	tal Assessment:		\$1,255.00	
*Ward: 7			is Payment:		\$1,233.00	
*Pending as of: 12/31/2018			rrent Year Principal:		\$0.00	
1 chang as of . 12/3 // 2010			rrent Year Interest:		\$0.00	
			yoff Amount:		\$1,255.00	
Judith A Deck	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Comn	nercia 25.10	50.00	\$1,255.00	35-29-22-14-0074
Patrick C Reyes	NO. 3 LOT 6 BLK 6	min una e vena,	23.10	=		33-29-22-14-00/4
2238 3rd St E		*** Owner and Taxpayer ***			\$1,255.00	
St Paul MN 55119-4028		o wher and ranpayer				
*2238 3RD ST E		To	tal Assessment:		\$1,255.00	
*Ward: 7		Th	is Payment:		\$0.00	
*Pending as of: 12/31/2018		Cu	rrent Year Principal:		\$0.00	
		Cu	rrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$1,255.00	
Nicolaus R Martin	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Comn	nercia 25.10	55.00	\$1,380.50	35-29-22-14-0064
Kristal R Wood	NO. 4 EX E 45 FT LOT 17 AND ALL OF	<b>,</b>	=	\$1,380.50	33-27-22-14-0004	
2243 3rd St E St Paul MN 55119-4026	LOT 16 BLK 7	*** Owner and Taxpayer ***			\$1,300.30	
*2243 3RD ST E		To	tal Assessment:		\$1,380.50	
*Ward: 7		Th	is Payment:		\$0.00	
*Pending as of: 12/31/2018		Cu	rrent Year Principal:		\$0.00	
		Cu	rrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$1,380.50	

## Datification Date

**Ratification Date:** 

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Donte R Buschette	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Commo	ercia 25.10	50.00	\$1,255.00	35-29-22-14-0072
2246 3rd St E	NO. 3 LOT 4 BLK 6			_	\$1,255.00	
St Paul MN 55119-4028		*** Owner and Taxpayer *	***			
*2246 3RD ST E *Ward: 7		Tak	al Assessment:		\$1,255.00	
*Pending as of: 12/31/2018			s Payment:		\$1,255.00	
1 Chung as 01. 12/31/2016			rent Year Principal:		\$0.00	
			rent Year Interest:		\$0.00	
			off Amount:		\$1,255.00	
Michael P Bedney 2247 3rd St St Paul MN 55119-4026 *2247 3RD ST E *Ward: 7 *Pending as of: 12/31/2018	FOOSHE'S EAST HOME ADDITION NO. 4 E 45 FT OF LOT 17 AND EX E 40 FT LOT 18 BLK 7	This Cur Cur		54.00	\$1,355.40 \$1,355.40 \$1,355.40 \$0.00 \$0.00 \$0.00 \$1,355.40	35-29-22-14-0065
Renae Omdahl Hattenberger C/O Renae Omdahl Po Box 251487 Woodbury MN 55125-6487 *2250 3RD ST E *Ward: 7 *Pending as of: 12/31/2018	FOOSHE'S EAST HOME ADDITION NO. 3 LOT 3 BLK 6	This Cur Cur		50.00 _	\$1,255.00 \$1,255.00 \$1,255.00 \$0.00 \$0.00 \$0.00 \$1,255.00	35-29-22-14-0071

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO1811 Assmt: 185507 Manager: LM
Ratification Date: Resolution #:

	Ratification Date: Resolution #:								
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>			
Gajendra V Jani	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Commer	eia 25.10	49.00	\$1,229.90	35-29-22-14-0070			
Kanta G Jani	NO. 3 LOT 2 BLK 6			_	\$1,229.90				
2254 3rd St E St Paul MN 55119-4028		*** Owner and Taxpayer **	*						
*2254 3RD ST E		Total	Assessment:		\$1,229.90				
*Ward: 7			ayment:		\$0.00				
*Pending as of: 12/31/2018			nt Year Principal:		\$0.00				
			nt Year Interest:		\$0.00				
		Payor	f Amount:		\$1,229.90				
	FOOGHEIG FACT HOME ADDITION	Mill and Overlay - Commerc	eia 25.10	55.00	¢1 290 50	25 20 22 14 00/5			
Luis Garzon Justo	FOOSHE'S EAST HOME ADDITION NO. 4 E 35 FT OF LOT 19 AND W 20 FT	will and Overlay - Commen	zia 25.10	33.00	\$1,380.50	35-29-22-14-0067			
2255 3rd St E St Paul MN 55119-4026	OF LOT 20 BLK 7	*** O	v		\$1,380.50				
*2255 3RD ST E		*** Owner and Taxpayer **	•						
*Ward: 7		Total	Assessment:		\$1,230.50				
*Pending as of: 12/31/2018		This I	ayment:		\$0.00				
			nt Year Principal:		\$0.00				
			nt Year Interest:		\$0.00				
		Payot	f Amount:		\$1,230.50				
						***ESCROW***			
Anthony Suero	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Commer	eia 25.10	75.00	\$1,882.50	35-29-22-14-0069			
2258 3rd St E	NO. 3 LOT 1 BLK 6				\$1,882.50				
St Paul MN 55119-4028		*** Owner and Taxpayer **	*						
*2258 3RD ST E									
*Ward: 7			Assessment:		\$1,882.50				
*Pending as of: 12/31/2018			ayment:		\$0.00				
			nt Year Principal:		\$0.00				
		Curre	nt Year Interest:		\$0.00				

**Payoff Amount:** 

\$1,882.50

Owner or Taxpayer	<b>Property Description</b>	Item Description	ution #: <u>Unit Rate</u>	Quantity	Charge Amts	<b>Property ID</b>
Rafael Bonfil	FOOSHE'S EAST HOME ADDITION	Mill and Overlay - Comme	rcia 25.10	54.00	\$1,355.40	35-29-22-14-0068
2259 3rd St E	NO. 4 EX W 20 FT LOT 20 BLK 7			_	\$1,355.40	
St Paul MN 55119-4026		*** Owner and Taxpayer *	*			
*2259 3RD ST E		<del></del>				
*Ward: 7			Assessment:		\$1,355.40	
*Pending as of: 12/31/2018			Payment:		\$0.00	
			ent Year Principal: ent Year Interest:		\$0.00 \$0.00	
			ff Amount:		\$1,355.40	
Riverlife Church Christian Missnary Alli 8860 College View Dr Saint Bonifacius MN 55375-4504 *520 HOWARD ST N *Ward: 7 *Pending as of: 12/31/2018	SECTION 35 TOWN 29 RANGE 22 W 200 FT OF PART OF NE 1/4 E OF HOWARD ST AND BET 3RD ST AND EXTENDED S L OF FREMONT AVE IN SEC 35 TN 29 RN 22	Mill and Overlay - Comme Mill and Overlay - Residen  *** Owner and Taxpayer *  Tota	tial 25.10	200.00	\$5,020.00 \$0.00 \$5,020.00 \$5,020.00	35-29-22-14-0058
-		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$5,020.00	
Report Totals:						
56 Parcel(s) 0 Cert. Exempt Parcel(s)		This Cur Cur	l Assessment: Payment: rent Year Princi rent Year Interes off Amount:		\$80,689.60 \$0.00 \$0.00 \$0.00 \$80,689.60	